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wØZxq †kÖwY 
welq t evsjv 

Aa©-evwl©K cixÿv 
1| cvV¨ eB c„ôv bs- (1-35) 
2| KweZv t (K) Avgv‡`i †`k   (L)  Avwg ne  (M) Avgv‡`i †QvU b`x 
3| weivg wP‡ýi e¨envi t (`vwo, cÖkœ‡evaK wPý) c„ôv- 18| 
4| ePb cwieZ©b (cvV¨ eB) t b`x, †Q‡j, Miæ, gvQ, wkqvj, dj, Avwg, Zzwg, MvQ, 

†R‡j, AwZw_, eB, dzj, UvKv, ZviKv, evbi, †m, †Q‡j‡g‡q, †bŠKv, †KŠUv, 
Jlya, †gN, abx, cvwL, wZwb| 

5| wecixZ kã (cvV¨ eB) t AvR, w`b, my›`i, dzj, B”Qv, fvB, nvwm, mKvj, kxZ, 
Mig, DVv, †Q‡j, Ajm, myL, †ePv, fv‡jv, nu¨v, mr, abx, †`k, wVK, KuvPv, mv`v, 
DuPz, †QvU, wfZi, Avmv, euvPv| 

6| Aby‡”Q` wjLb (10wU ev‡K¨) t (K) kx‡Zi mKvj   (L) KuvVvj  
(M) my›`ieb| 

 
1g †kÖwY Afxÿv 

1| cvV¨ eB c„ôv bs- (6---27)  
2| KweZv t (K)  Avgv‡`i †`k  (L) Avwg ne|  
3| ePb cwieZ©b  

 
‡kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 

1| kãv_© wjLb t 5wU 15 = 05 
2| evK¨ MVb t 5wU 15 = 05 
3| cÖ‡kœi DËi wjLb t 2wU 2.52 = 05 
4| ePb cwieZ©b t 5wU 15 = 05 
  20 

 
Aa©-evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 

1| Kwe I KweZvi bvgmn cÖ_g 8 jvBb 1 + 1 + 8 = 10 
2| kãv_© t 5wU 15 = 05 

3| evK¨ MVb t 5wU 25 = 10 
4| hy³vÿi wefvRb K‡i k‡ã cÖ‡qvM t 5wU 25 = 10 
5| k~b¨¯’vb c~iY t 5wU 15 = 05 
6| cÖ‡kœi DËi wjLb t 4wU 45 = 20 
7| weivg wPý e¨envi K‡i cybivq evK¨ wjLb t 5wU 15 = 05 
8| ePb cwieZ©b t 5wU 15= 05 
9| wecixZ kã t 5wU 15 = 05 
10| Aby‡”Q` wjLb t 10wU ev‡K¨ 110 = 10 
11| kÖæwZwjwc I ª̀æZcVb (wkÿK K¬v‡m wba©viY Ki‡eb) 10 
11|  my›`i nv‡Zi †jLv 05 
 ‡gvU = 100 

 
evwl©K cixÿv 

1| cvV¨ eB c„ôv bs- (36-73) 
2| KweZv t (K) ‡Uªb      (L)  cÖv_©bv      (M) Kv‡Ri Avb›` 
3| ePb cwieZ©b (cvV¨ eB) t MÖvg, †K, Avwg, gvbyl, †m, evQzi, KzKzi, QvMj, nuvm, 

gyiwM, †gŠgvwQ, gyw³‡mbv, Avgvi, †gN, eQi, cvZv, gvm, KeyZi, kÖwgK, wcucov, 
†g‡q, Rj, kÎæ, Po–B, AÂj| 

4| wecixZ kã (cvV¨ eB) t bZzb, MÖvg, Dcw ’̄Z, weL¨vZ, †QvUv, ïiæ, mij, my›`i, 
Avq, fv‡jv, nvjKv, mv`v, Mig, gyw³‡mbv, mnR, mvg‡b, hy×, Rxeb, kÎæ, 
Avcb, Av‡M, j¤^v, ¯̂vaxbZv, Av‡jv,  big, ïK‡bv, jvf| 

5| wj½ cwieZ©b (cvV¨ eB) t bvbv, `v`v, dydv, fvB, †Q‡j, wK‡kvi, Miæ, evev, 
†gviM, †bZv, gvbe, wcZv, PvPv, gvgv, Lvjy| 

6| Aby‡”Q` wjLb (10wU ev‡K¨) t (K) Avgvi †cvlv cÖvYx   (L) RvZxq Kwe   
(M) gyw³hy× 

 



2q †kÖwY Afxÿv 
1| cvV¨ eB c„ôv bs- (36-47)  
2| KweZv t ‡Uªb  
3| wj½ cwieZ©b  

 
2q †kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 

1| kãv_© wjLb t 5wU 15 = 05 
2| evK¨ MVb t 5wU 15 = 05 
3| cÖ‡kœi DËi wjLb t 2wU 2.52 = 05 
4| wj½ cwieZ©b t 5wU 15 = 05 
 ‡gvU = 20 

 
evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 

1| Kwe I KweZvi bvgmn cÖ_g 8 jvBb 1 + 1 + 8 = 10 
2| kãv_© t 5wU 15 = 05 
3| evK¨ MVb t 5wU 25 = 10 
4| hy³vÿi wefvRb K‡i k‡ã cÖ‡qvM t 5wU 25 = 10 
5| k~b¨ ’̄vb c~iY t 5wU 15 = 05 
6| cÖ‡kœi DËi wjLb t 4wU 45 = 20 
7| ePb cwieZ©b t 5wU 15 = 05 
8| wecixZ kã t 5wU 15= 05 
9| wj½ cwieZ©b t 5wU 15= 05 
10| Aby‡”Q` wjLb t 10wU ev‡K¨ 110 = 10 
11| kÖæwZwjwc I ª̀æZcVb (wkÿK K¬v‡m wba©viY Ki‡eb) 10 
11|  my›`i nv‡Zi †jLv 05 
 ‡gvU = 100 
 

Subject : English 

Half Yearly Examination 

1. English for Today : Unit- (1 to 15), 26 

2. Vocabulary : Page- 61, 62 & 63. 

 (Word meaning, Making sentence, Number change, Re-arrange 

will be taken from the following words) : 

A = (After – Alphabet),  B = (Bag – Board),  C = (Cat – Cow), 

D = (Day – Draw), E = (Ear – Eight), F = (Fence – Fat), G = 

(Get up – Goat), H = (Hair – Hen), I = (Idea – Inside), L = (Lay 

– Look at), M = (Man – Monkey), S = (Sad – Shape). 

3. Rhymes : (a) Head and shoulders  (b) Parts of the body (c) Days 

of the week   

4. Paragraph : (a) Myself     (b) My mother     (c) The cat 

 
1st Term Class Test 

1. English For Today : Unit-26 (Page No : 52) 

2. Vocabulary : A = (After – Angry), B = (Bay – Beg), C = (Cat – 

Close), D = (Day – Dog), E = (Ear – End) , F = (Fence – Fat) 

3. Question and Answer, Make sentence and jumble words. 

 
Marks Distribution of 1st Term Class Test 

1. Make Sentences :          (Two) 2  2 = 04 

2. Jumble words :              (Four) 1  4 = 04 

3. Question and Answer : (Four) 3  4 = 12 

 Total : 20 

 
Marks Distribution of Half Yearly Examination 

1. Word meaning  in Bangla : (Ten) 1  10 = 10 

2. Word meaning in English : (Five) 1  5 = 05 

3. Make sentences : (Five) 2  5 = 10 

4. Re-arrange the jumble words : (Five) 1  5 = 05 



5. True/False (E.F.T) : (Five) 1  5 = 05 

6. Fill in the blanks : (Five) 1  5 = 05 

7. Rhyme : (One) 10 

8. Question and Answer : (Five) 3  5 = 15 

9. Opposite word : (Five) 1  5 = 05 

10. Number change : (Five) 1  5 = 05 

11. Hand writing : 05 

12. Paragraph writing : (One) 10 

13. Reading (Ended in class) 05 

11. Dictation: (Ended in class) 05 

 Total : 100 

 
Annual Examination 

1. English for Today : Unit- (16 to 29) 

2. Vocabulary : Page- (61, 62, 63 & 64)  

 (Word meaning, Making sentence, Number change, Re-arrange 

will be taken from the following words) : 

A = (Action – Another), B = (Book – But), C = (Cup – Can), D 

= (Do – Dinner), F = (Fox – False), J = (Jar – Join), K = (Kill – 

Know), L = (Letter – Label), M = (Morning – Miss), O = (Old 

– Our), P = (Pencil – Pot), R = (Rainbow – Rich), S = (Shoe – 

Small), T = (Table – Thin), W = (Wait – Watch), Y = (Year – 

Yes), Z = (Zebra) 

3. Rhymes : (a) Colours               (b) Animals   

4. Paragraph : (a) My Teacher     (b) Our School     (c) The cow 

 
2nd Term Class Test 

1. English For Today : Unit-27 

2. Vocabulary : A = (Action – Another), B = (Book – But), C = 

(Cup – Can), D = (Do – Dinner), F = (Fox – False), J = (Jar – 

Join), K = (Kill – Know) 

3. Make sentence, Number change, Question and Answer. 

 

Marks Distribution 2nd Term Class Test 

1. Make Sentences : (Two) 2  2 = 04 

2. Number change : (Four) 1  4 = 04 

3. Question and Answer : (Four) 3  4 = 12 

 Total : 20 

 
Marks Distribution of Annual Examination : 

1. Word meaning  in Bangla : (Ten) 1  10 = 10 

2. Word meaning in English : (Five) 1  5 = 05 

3. Make sentences : (Five) 2  5 = 10 

4. Re-arrange the jumble words : (Five) 1  5 = 05 

5. True/False (E.F.T) : (Five) 1  5 = 05 

6. Fill in the blanks : (Five) 1  5 = 05 

7. Rhyme : (One) 10 

8. Question and Answer : (Five) 3  5 = 15 

9. Opposite word : (Five) 1  5 = 05 

10. Number change : (Five) 1  5 = 05 

11. Hand writing : 05 

12. Paragraph writing : (One) 10 

13. Reading (Ended in class) 05 

11. Dictation: (Ended in class) 05 

 Total : 100 
 

welq t MwYZ 
Aa©-evwl©K cixÿv 

cvV¨ eB‡qi c„ôv bs (1--51) ch©šÍ| 
1| msL¨v t As‡K I K_vq wkLb I wjLb evsjv (101-200) ch©šÍ| 
2| msL¨v t As‡K I K_vq wkLb I wjLb t Bs‡iwR‡Z (101-200) ch©šÍ| 
3| ‡Rvo I we‡Rvo msL¨v wkLb I wjLb (1---100) ch©šÍ| 
4| ’̄vbxq gvb (2 I 3) c„ôv| 
5| msL¨vi Zzjbv (4 I 5) c„ôv| 
6| ‡hvM ( 17 ‡_‡K 24) c„ôv| 



7| we‡qvM (25 ‡_‡K 33) c„ôv| 
8| ¸‡Yi aviYv I ¸Y (37 ‡_‡K 51) c„ôv| 
9| ¸‡Yi bvgZv (8 †_‡K 12) Gi N‡ii| 

 

 

1g †kÖwY Afxÿv 
1| K_vq wjLb (101 †_‡K 150) ch©šÍ| 
2| ’̄vbxq gvb, †Rvo-we‡Rvo msL¨vi Zzjbv (1 †_‡K 11) c„ôv ch©šÍ| 
3| ‡hvM t (19 †_‡K 22) c„ôv ch©šÍ| 
4| we‡qvM t (25 †_‡K 32) c„ôv ch©šÍ| 

 

‡kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 
1| K_vq wjLb t 5wU 15 = 05 
2| ’̄vbxq gvb t 5wU 15 = 05 
3| ‡hvM t 2wU 2.52 = 05 
4| we‡qvM t 2wU 2.52 = 05 
 ‡gvU = 20 

 

Aa©-evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 
1| As‡K wjLb t (evsjvq) 5wU 15 = 05 
2| K_vq wjLb t (evsjvq) 5wU 15 = 05 
3| As‡K wjLb t  (Bs‡iRx‡Z) 5wU 15 = 05 
4| K_vq wjLb t  (Bs‡iRx‡Z) 5wU 15 = 05 
5| ‡QvU †_‡K eo I eo †_‡K †QvU Abyµ‡g mvRv‡bv t 10wU 110 = 10 
6| LvwjNi c~iY/µgevPK msL¨v t 5wU 25 = 10 
7| ‡Rvo-we‡Rvo msL¨v 10wU/¯’vbxq gvb wbY©q  5wU 110/ 52 = 10 
8|  †hvM Ki t 2wU  42= 08 
9| we‡qvM Ki t 2wU 42 = 08 
10| ¸Y Ki t 2wU 22 = 04 
11| mgm¨vg~jK †hvM 2wU, we‡qvM 2wU I ¸Y 1wU 45 = 20 
12|  ¸‡Yi bvgZv t 1wU 10 
 ‡gvU = 100 

evwl©K cixÿv 
cvV¨ eB‡qi c„ôv bs- 52 †_‡K 100 ch©šÍ| 
1| msL¨v t As‡K I K_vq wkLb I wjLb evsjvq (251-300) ch©šÍ| 

2| msL¨v t As‡K I K_vq wkLb I wjLb t Bs‡iwR‡Z (251-300) ch©šÍ| 
3| µgevPK  msL¨v t c„ôv bs 13| 
4| mgm¨vg~jK cÖkœ t (54-55, 61-63, 66-69, 72-87, 93-95) ch©šÍ| 
5| R¨vwgwZK AvK…wZ AsKb t (82-92) c„ôv ch©šÍ| 
6| ¸‡Yi bvgZv t (13 †_‡K 15) Gi N‡ii| 

 
2q †kÖwY Afxÿv 

1| ¸Y Ki (52 †_‡K 63) c„ôv ch©šÍ| 
2| fvM Ki (72 †_‡K 73) c„ôv ch©šÍ| 
3| LvwjNi c~iY (84 †_‡K 87) c„ôv ch©šÍ| 
4| K_vq evsjvq/Bs‡iRx t (201 †_‡K 250) ch©šÍ| 

 
2q †kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 

1| ¸Y Ki t 5wU 15 = 05 
2| fvM Ki t 5wU 15 = 05 
3| LvwjNi c~iY t 5wU 15 = 05 
4| K_vq wjLb (evsjvq) t 5wU 15 = 05 
 ‡gvU = 20 

 

 
evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 

1| As‡K wjLb t (evsjvq) 5wU 15 = 05 
2| K_vq wjLb t (evsjvq) 5wU 15 = 05 
3| As‡K wjLb t  (Bs‡iRx‡Z) 5wU 15 = 05 
4| K_vq wjLb t  (Bs‡iRx‡Z) 5wU 15 = 05 
5| LvwjNi c~iY t 10wU 110 = 10 
6| µgevPK msL¨v 110 = 10 
7| mgm¨vg~jK cÖkœ t 4wU 104 = 40 
8| gvbmsK t 5wU 15= 05 
9| R¨vwgwZK AvK…wZ AsKb t 1wU 15 = 05 
12|  ¸‡Yi bvgZv t 1wU 10 
 ‡gvU = 100 

 



welq t WªBs/A¼b 
Aa©-evwl©K cixÿv  

1| AsKb KiY t Ni †cwÝj, gM, gB| 
2| AsKb I is KiY t RvZxq cZvKv, Nywo, QvZv| 
3| Ni I MvQ wb‡q GKwU „̀k¨ AsKb I is KiY| 

 
evwl©K cixÿv  

1| AsKb KiY t ‡gvgevwZ, eB, Møvm| 
2| AsKb I is KiY t Avg, Av‡cj, nuvwo, gvQ| 
3| MÖv‡gi `„k¨ AsKb I is KiY| 

 
mKj cixÿvi cÖ‡kœi aviv I gvbeÈb 

(djvdj †MÖwWs c×wZ‡Z n‡e) 
1| A¼b KiY (‡h‡Kvb 2wU) 102 = 20 
2| A¼b I is KiY  (‡h‡Kvb 2wU) 102 = 20 
3| `„k¨ AsKb I is KiY 110 = 10 
 ‡gvU =  50 
 


